	<b>1</b> 1	O'Odham Employment
1	1 Assistance Readiness Netv	vork Recontract Proposal)
2	2	RESOLUTION NO. <u>93-209</u>
3	WHEREAS, the Tohono O'Odnam	Nation is presently operating the
5	Employment Assistance	Readiness Network (EARN) Program
6		. 93-638 contract with the Bureau of
7	7 Indian Affairs; and	
8	WHEREAS such tribal operations ha	ve been successful and beneficial to the
10	Tohono O'Odham Natio	n and its people; and
11	WHEREAS, 25 CFR 271.20 of the Co	de of Federal Regulations requires that
12 13	all proposals to recontra	act under P. L. 93-638 be submitted to
1	\ 1	egislative Council for approval at least
15	120 days prior to the co	rrent contract termination; and
16 17	WHEREAS the Tohono O'Odham I	Nation does desire to recontract for the
	EARN initiatives during	g Fiscal Year 1994; and
19	WHEREAS, funds for the EARN Pro	gram has been allocated by utilizing the
20	Tohono O'Odham Soo	ial Service General Assistance grant
21 22	21   funds; and	
		Legislative Council has reviewed and
24	24	
25	25	Year 1994 Employment Assistance
		tract proposal and budget.
		SOLVED by the Tohono O'Odham
28	Legislative Council tha	t it does hereby authorize and request

	RESOLUTION NO. 93-209						
	(Fiscal Year 1994 Tohono O'Odham Employment Assistance Readiness Network Recontract Proposal)						
1 2	Page 3 of 4						
3 4	contract shall be submitted for further prior approval by this Council.						
5							
6	The foregoing Resolution was passed by the Tohono O'Odham Legislative						
7	Council on the <u>10TH</u> . day of <u>JUNE</u> , <u>1993</u> at a meeting at which a quorum was present with a vote of <u>1,195.0</u> FOR; <u>-0-</u> AGAINST; <u>-0-</u> NOT VOTING;						
8	and 568 0 [09] ARSENT, nursuant to the powers vested in the Council by						
9	Section 1 (f) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved						
10	by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on						
11	March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).						
12	704).	ļ					
13	TOHONO O'ODHAM LEGISLATIVE COUNCIL						
14	TOHONO O ODIEMI EESTEET						
15	Coley Famon						
16	At I Domon Logislative Chairman						
17	14th day of June, 1993						
18	II \ \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\						
19	ATTEST:						
20 21	Marine Dr. Chornella						
21	Teresa M. Choyguna, Legislative Secretary						
23 23	11 44th day of home . 19 93.						
24		_					
25	Gaid Desolution was submitted for approval to the office of the Chairman of	t >					
26	Will It I the Divisions of Section 1						
2	Ill and a work calls Constitution and will become ellective upon his approve	-					
_	or upon his failure to either approve or disapprove it within to have	-					
2	submittal.						

	RESOLUTION NO. 93-209
	(Fiscal Year 1994 Tohono O'Odham Employment
1	Assistance Readiness Network Recontract Proposal)
	Page 4 of 4
2	V .
3	TOHONO O'ODHAM LEGISLATIVE COUNCIL
4	
5	Coley Comor
6	Alex J. Ramon, Legislative Chairman
7	
8	
9	APPROVED on the 15 day of une, 1993
10	[ ] DISAPPROVED) at $\frac{4!/2}{}$ o'clock, $\frac{\mathscr{S}}{}$ .M.
11	( ) District ( ) at o clock,
12	= 1 1 1 · v t
13	SYLVESTER LISTO, Chairman
14	TOHONO O'ODHAM NATION
15	
16	i. the
17	Returned to the Legislative Secretary on the 10th day of 10th day
18	19 93 , at 8:56 o'clock, A.M.
19	1 11 2 1 . A.
20	Thrunda Olken Jor:
21	Teresa M. Choyguha, Legislative Secretary
22	
23	
24 25	
26	
27	
28	
126	

MOVED: COUNCILMAN MANUEL OSEQUEDA, JR SUBJECT: FISCAL YEAR 1994 TOHONO O'ODHAM EMPLOYMENT

SECOND: COUNCILMAN WILLARD JUAN, SR. ASSISTANCE READINESS NETWORK RECONTRACT PROPOSAL

DATE: <u>JUNE 10, 1993</u>

ISTRICTS	REPRESENTATIVES	of votes	FOR	AGAINST	NOT VOTING	ABSENT
IF OIDAK 51.0	1. Willard Juan, Sr. (Delbert Thomas)	75.5	X			
31.0	2. Mary Ann Antone (Nellie Miguel)	75.5	X			
ELLS	1. Andrew Patricio	145.0				х
90.0	(Lucille Encinas) 2. Joseph T. Joaquin (Allen W. Garcia, Jr.)	145.0				X
CHUK TOAK	1. Frances Francisco	56.5	x			
13.0	2. Kenneth J. Antone (	56.5	X			
SAN XAVIER	1. Eugene Enis (Michael R. Rios)	67.5	Х			
135.0	2. Dennis Ramon (	67.5	х			
BABOQUIVARI	1. Frances Miguel	115.0	x			
230.0	2. Earl A. Francisco (Lucilda Norris)	115.0	х			
GU ACHI	1. Willard Anita	90.0				х
180.0	2. Alex J. Ramon (Marian Johnson)	90.0				Х
PISINEMO	1. Chester Antone	64.0	х			х
28.0	(Fernando Valentine) 2. Johnson Jose (Roseleen Antone)	64.0	Х			
SAN LUCY	1. John Reno	49.0				X
98.0	2. Albert Manuel, Jr. (Ernestine Marquez)	49.0				X
GU VO	1. Emilio Lewis	62.0	х			
124.0	(Anthony Flores) 2. Michael Flores (Fern Salcido)	62.0	х			X
HICKIWAN	1. Manuel Osequeda, Jr.	68.0	х			
136.0	2. Lloyd Francisco (Henry A. Ramon)	68.0	х			
CHUKUT KUK	1. Alberta M. Lopez (Berdella Jose)	89.0	х			
178.0	2. Kenneth Williams	89.0	Х		_	X
	TOTAL	1,763.0	1,195.0	-0-	-0-	568.0 [0